ALT38 Twin Log Bed
ALDS3 Double Log Bed

Please check contents before assembly. If any items are missing or damaged, do not take the unit back to the store.
Call 1-800-427-5136 for customer service and we will save you time by correcting any problems directly for you.

BED COMPONENTS HARDWARE & TOOLS REQUIRED
1 Each - Assembled Head/Foot 5 po ) - eaq 2 - Bed Rails 22 -2 1/2” Screws 4-5/167
& Footboard o a washer
m: o TR I = = Y = r_\Dj Legs QU W‘W
Legs are drilled as
lefts and rights.
4 - 1/4” x 5” Hex Washer Head Screws

m = ) \w L \w Y7 Y . ’:] [:
m q (@)

i [ & [ T NN Jl

#2 Phillips
Rubber Hammer Screwdriver

T A= A M w W~ B~ L~ Mallet & Block

al of Wood
3 - Mattress Supports ] 7/16” Socket % =
i - ) y { or Wrench
o [0 4 - Angle Braces @%’% :
i ]
LN L\
Twin support rails 38 1/2” 7\ /—\ or or
Double support rails 54” g

NOTE: Cracks or Checks in logs are part of the
natural beauty of cedar logs and should not be
considered defects.

HELPFUL TIPS:
e Using a battery operated or electric drill will make assem-
bly faster and easier.

o If finishing yourself, tape off all doweled ends. (Finishes
NOTE: Read all instructions before starting. may cause dowels to swell, making assembly difficult.).

CALIFORNIA PROPOSITION 65 WARNING y
This product may have an indoor finish applied that contains For-
maldehyde (50-00-0), a substance known to the State of California
to cause cancer.

For more information go to www.P65Warnings.ca.gov

STEP 1  Assemble headboard by laying long headboard legs and one
assembled Head/Foot board on a clean flat surface, with lower Fl gure 1
headboard leg hole facing up (recessed hole should be facing
the floor) and the top holes facing inward. Use a rubber mal-
let or hammer and block of wood to align and insert doweled
ends of the assembled headboard into the leg. Repeat process
on other leg. Repeat same process for the assembled foot- o -
board. See figure 1.

NOTE: Cracks or checks in logs are a
natural phenomenon that occurs when
moisture escapes as the logs dry and sea-
son. They do not affect the structural integ-

rity of the wood and are not considered
defects.




STEP 2  Assemble undercarriage by laying the bedrails parallel o

to each other, with holes facing inward. Using a rubber

mallet or hammer and block of wood, align and insert .

mattress supports into the bed rails, as shown in figure Flgure 2
2.

STEP 3  Align and insert the doweled ends of the assembled under-

carriage into the lower holes of the headboard, (make sure o

the recessed holes are to the back). Repeat process on the
footboard. See figure 3.

STEP 4  Secure legs to the undercarriage with 5/16” washer and 5 hex
washer head screw through the four recessed holes. Secure and
tighten all hex washer head screws. See figure 4.

1/4” x 5” Hex washer head screws and 5/16” washer

Figure 5

STEP S5  Using 2 1/2” screws, attach an angle brace to each leg
and bed rail as shown in figure 5.

STEP 6  Secure ALL doweled joints with 2 1/2” screws. Place S~—

screws perpendicular through the dowels into the logs.
See figure 6 for placement.

Perpendicul

Your bed is now assembled and is ready for immediate use
or for a finish of your choice. Sweet dreams!

Check tightness periodically.

| e ———
0

f

Leg —_—

DI

Side rail

2 1/2” Screws

IMPORTANT!

If you have hardware left over
after completing your unit, it
most likely has been assembled
incorrectly, and may not be
safe to use. Please call Cus-
tomer Service at 800-427-5136
fir assistance,

Factory: 1 Lakeland Place, Edmore, Michigan 48829, Phone: 800-427-5136 Fax: 989 -427-5824

www.lakelandmills.com



ALQ60 Queen Log Bed
ALK76 King Log Bed

Please check contents before assembly. If any items are missing or damaged, do not take the unit back to the store.
Call 1-800-427-5136 for customer service and we will save you time by correcting any problems directly for you.

BED COMPONENTS HARDWARE & TOOLS REQUIRED
1 Each - Assembled Head/Foot 2 Each - Head 2 - Bed Rails 25 -2 1/2” Screws 4 -5/16
& Footboard a o washer
mmL:cc:\cr_\Dﬂ Legs
Legs are drilled as
lefts and rights.

QI' = = \w L \w Y7 ) ’:] [_
] —
: u
YT oo T <o T o Ve R ViR
#2 Phillips
Rubber Hammer Screwdriver
oA = I = S B A, Mallet & Block
=g of Wood
3 - Mattress Supports ‘ 7/16” Socket % W)
i 5 x| y 1 or Wrench
i x =l
a( 0 Io &
3 - Mattress 4 - Angle Braces or or
Support Feet
LN\ L\ oo

NOTE: Cracks or Checks in logs are part of the
natural beauty of cedar logs and should not be
considered defects.

HELPFUL TIPS:
e Using a battery operated or electric drill will make assem-
bly faster and easier.

o If finishing yourself, tape off all doweled ends. (Finishes
NOTE: Read all instructions before starting. may cause dowels to swell, making assembly difficult.).

CALIFORNIA PROPOSITION 65 WARNING j 2
This product may have an indoor finish applied that contains For-
maldehyde (50-00-0), a substance known to the State of California
to cause cancer.

For more information go to www.P65Warnings.ca.gov

STEP 1  Assemble headboard by laying long headboard legs and one Flgure 1
assembled Head/Foot board on a clean flat surface, with lower
headboard leg hole facing up (recessed hole should be facing

the floor) and the top holes facing inward. Use a rubber mal- <

let or hammer and block of wood to align and insert doweled Fi gure 2 g o

ends of the assembled headboard into the leg. Repeat process O e~ )
on other leg. Repeat same process for the assembled foot- f —

board. See figure 1. — =

NOTE: Cracks or checks in
STEP 2 Insert mattress support feet into each of the mattress logs are a natural phenomenon
supports. See figure 2. that occurs when moisture es-
capes as the logs dry and sea-
son. They do not affect the
structural integrity of the wood
and are not considered defects.




STEP 3

STEP 4

STEP 5

STEP 6

STEP 7

Assemble undercarriage by laying the bedrails parallel
to each other, with holes facing inward. Using a rubber

mallet or hammer and block of wood, align and insert

mattress supports into the bed rails, as shown in figure

3.

Align and insert the doweled ends of the assembled under-
carriage into the lower holes of the headboard, (make sure
support feet are facing the floor and the recesses hole is to
the back). Repeat process on the footboard. See figure 4.

Secure legs to the undercarriage with 5/16” washer and 5 hex
washer head screw through the four recessed holes. Secure and

tighten all hex washer head screws. See figure 5.

1/4” x 5” Hex washer head screws and 5/16” washer

Figure 5

Using 2 1/2” screws, attach an angle brace to each leg
and bed rail as shown in figure 6.

Secure ALL doweled joints with 2 1/2” screws. Place
screws perpendicular through the dowels into the logs.
See figure 7 for placement.

Your bed is now assembled and is ready for immediate use

or for a finish of your choice. Sweet dreams!

Figure 3

o

Figure 6

Leg — |

il \ Side rail

Perpendicu

Check tightness periodically.

2 1/2” Screws

IMPORTANT!

If you have hardware left over
after completing your unit, it
most likely has been assembled
incorrectly, and may not be
safe to use. Please call Cus-
tomer Service at 800-427-5136
fir assistance,

Factory: 1 Lakeland Place, Edmore, Michigan 48829, Phone: 800-427-5136 Fax: 989 -427-5824
www.lakelandmills.com



	2019-ALT38-ALD53.pdf
	2019-ALQ60-ALK76.pdf



